Resolver los siguientes sistemas de ecuaciones:

2x—y =1
U x+3y=11

3x+5y =20
2) 2Xx—-10y =0

5x-2y =11
) 3y+x=9

10x +4y =3
2 20y -5x =4

5x -3y =16
5) 2X +4y =22

5x-3y =16

6) X+2y=11

4x -3y =7
2 20x +5y =35

R=x=2, y=3

R=x=5, y=1

R=x=3, y=2

R=x=1/5, y=1/4

R= x=5, y=3

R= x=5, y=3

R= x=7/4, y=0



R= x=0, y=0

R= x=0, y=0

R= x=0, y=0

R= x=0, y=0

12) 5 4 R=x=5, y=4

13) 4 R=x=4, y=1

14) bx -4y = -3 R=x=9, y=12



R=x=1, y=2

R=x=-1/3, y=-13

R= x=5, y=24

R=x=10, y=7

R= x=6, y=12



X+y X-Y _¢
8 6

XTY XY 10
4 3

20) R= x=20, y=20

5(X-2)=y+2

21) X+5=3(y-5) R= x=4, y=8

2(2x +3y)=3(2x-3y)+10

22) 4x -3y = 4(6y-2X) +3 R= x=5/2, y=1

x;2+x-y=2X_3

2X - 3y

23) +2y =3x+4 R= x=24/23, y=148/23
3 3
X+2y+3 4x-5y+6
319
Y Bx-5y+4  3x+2y+1

R=x=7, y=8

ox+7y 13

ax+11 7

11x+27 19
25) X +5y 11

R=x=1, y=3



—+ =5

Xy
26) X Yy

—+ =2

2 3 i

R=x=1/3, y=1/2

Sistemas de ecuaciones con mas tres incognitas

Xx+y+z=11
2X-y+z=5
1)3x+2y+z2=24

X-y+z=7
X+y-z=1
2)y+z-x=3

X+y-22=9
X-y+4z=5
3) 3y-2X-2=2

2X-2y+32 =16
3X+2y-22=6
4) 4x +3y-4z=-1

R=x=4, y=5, z=2

R=x=4, y=2, z=5

R=x=11/2, y=13/2, z=3/2

R=x=3, y=1, z=4



5)

6)

7)

2x+7y-112=10
5x-10y +3z =15
6x +12y-z=31

X+2y _7
5x+6z 9
y+4z _8

X+2y 7
X+y+z=128

5x+7y_8
X+Y
3(2-x) _1
X-Yy+1Z
2X+3y-2 _

X3

4

R=  x=4894/1211,
z=235/1211

R=x=51, y=76, z=1

y=701/1211,

R=x=54/61, y=-162/61, z=-12/61

Py
I

X=-744/743,

z=158424/743

y=27540/743,



E_E_E:ZI.
X Yy z
§+£_g:11
X Yy Z
9)
3_2.4_14
X Yy Z
1 1 1
7+7:7
X y 12
1 1 1
7+7:7
)Y 2 20
1 1 1
7+7:7
x 2 15
v _12
X+y 95
yz _18
1) Y+2Z 5
e _36
X+z 13

2x+3y+5z=10
3X+7y+4z=3
12) X+2y+22=3

R=x=1/3,y=1, z=1

R=x=-30/13, y=60/31, z=-15/7

R= x=4, y=6, z=9

R= x=3, y=-2, z=2



5x-6y+4z=3
3X-3y+2z2=2
13) 4x -5y +2z=1

4x-3y+2z+4=0
6x-2y+3z+1=0
14) 59X -3y +2z2+3=0

5Xx+2y+3z+2=0
2X-2y+5z2=0
15) 3x+4y+2z+10=0

2X-3y+2=2
3Xx-5y+5z2=3
16) 59X -8y +6z2 =5

4X+32y+8z=7
2X+6y+72=25
17) 23x+47y +5z =81

IX+3y-4z =26
IX+3y+z2=8
18) -x+92y+4z=7

R=x=1, y=1, z=1

R=x=1, y=2, z=-1

R=x=2, y=-3, z=-2

R=x=1, y=0, z=0

R= x=-433/61, y=4015/793,

z=999/793

R=x=-31/190, y=807/190, z=-18/5



OX+6y+3z=12
4X+1y+52 =15
19) 3X + 6y +7z2=18 R=x=5/17, y=10/17, z=33/17



